

$$\lim_{n \rightarrow -1} \frac{n^r + 1 \cdot n + 1}{1 + \sqrt[n]{n}} = \frac{0}{0} \xrightarrow{\text{hop}} \frac{r n^{r-1} + 1}{\frac{1}{\sqrt[n]{n}}} = -1$$

$$\lim_{n \rightarrow 0^-} \frac{\sqrt{r+n} - \sqrt{r-n}}{\sqrt{1+\cos}} = \frac{0}{0} \rightarrow \frac{(\sqrt{r+n} - \sqrt{r-n}) (\sqrt{r+n} + \sqrt{r-n})}{\sqrt{1-\cos} \times (\sqrt{r+n} + \sqrt{r-n})} = \frac{r}{\sqrt{r} \sin \frac{\pi}{2} \times \sqrt{r}} = -1$$

$$\lim_{n \rightarrow 0^-} \frac{r^n}{-\sqrt{r} \sin \frac{\pi}{2}} \times \lim_{n \rightarrow 0^-} \frac{1}{\sqrt{r+n} + \sqrt{r-n}} = \frac{-r\sqrt{r}}{r\sqrt{r}} = -1$$

$$\lim_{n \rightarrow 0} \frac{K + \cos(\sqrt{a}n)}{K n^r} = \frac{0}{0} \rightarrow \lim_{n \rightarrow 0} (K + \cos(\sqrt{a}n)) = 0 \rightarrow K + \cos(0) = 0 \rightarrow K = -1$$

$$\lim_{n \rightarrow 0} \frac{1 - \cos(\sqrt{a}n)}{n^r} = \frac{0}{0} \rightarrow \frac{a n^r}{r n^r} = \frac{a}{r} = r \quad a = r \quad \frac{a}{r} = \frac{r}{1} = -1$$

$$\lim_{n \rightarrow a^+} \frac{\sqrt{n-ra} + \sqrt{n} - \sqrt{rK}}{\sqrt{n^2 - a^2}} = \frac{0}{0} \rightarrow \frac{\sqrt{n-ra}}{\sqrt{(n-ra)(n+ra)}} + \frac{\sqrt{n} - \sqrt{rK}}{\sqrt{(n-ra)(n+ra)}} = \frac{r}{\sqrt{a}n} = \frac{\sqrt{a}n}{r n} = \frac{1}{r}$$

$$\lim_{n \rightarrow (-1)} \frac{1 - K[n]}{n^r - 1} = -\infty \quad \frac{1+K}{0^-} = 1+K > 1 \quad \frac{1-rK}{0^+} = 1-rK < 1 \rightarrow K < 0$$

$$-1(K < 0) \rightarrow -r(K) < -\frac{K}{r} \rightarrow \text{فرد لول}$$